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Work and Power

State the equation }3 links ?..8 distance and
work done
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Calculate the work done when Jim pushes a box
10m with 200N of force
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Calculate the force when a crane uses 500kJ to

lift steel bars 30m high.
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A man takes 10 seconds to push a car with a force
of 1kN a distance of 10m. Calculate the bﬂs\mﬂo*
the man. ,
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Objects affecting each other

Identify an example of a contact force
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Identify an nxosv_n of a non-contact force
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State three mxoa_u_am of force fields
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Draw a diagram to show two ob jects attracting
each other
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diagram to show two ob jects repelling
each other
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Transferring Energy

Explain why a resistor gets hot when current
flows through it
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Equation given in exam:
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difference x time

Calculate the energy transferred when a 9V
battery supplies 0.2A of current to an appliance
for 5 minutes.
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Calculate the time taken to transfer 3000J to a
lamp with a current of 0.8A when it is connected
to a 230V supply
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State the three equations to calculate power
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Calculate the power of a kettle connected to a
230V supply and 13A o* current is 19._519._.
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Calculate the resistance when w> flow gh
and 8kW of power is transferred
m — ’"\ldﬁ ._rxl.mw.x\ > b=l ~
cresesienanens :.h... e ».ﬁr ...... \.meﬁ«#\

Transferring energy by electricity

Describe the energy transfers in a mains
operated hairdryer
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Describe the energy transfer of a vninQ
operated heated gloves
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Particles and density

r& does the _A_:an i_moQ m+n+wo
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U@mnzca the difference between chemical and

loS1ate the equation that links mass, dénsity and
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Calculate the volume if the object has a mass of
400kg.
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densities of objects
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Describe one way of increasing the accuracy of
measuring the density

P ket
\\\ 1% - /.\\ .......................... vwﬁ a
Describe how particles are arranged in liquids N\NSN \
b o At hn 0. B R L., [, Ider
i .m.mw. s con. 119 f7280| 1 Practical skills: Ider
\\\ 53\ \\Ns\m ..
\\%i\\ %Qﬁw List the equipment needed to investigate

h .............................................................................. - USE-A.Measunng ca liadker wath med ] 7,
....................................................................................................... %@o&@@mﬁmﬁﬂ T Tn@.\:ﬁwio\ ?%P_om
) heddudunvie ¢f-watyocdALeA] MO &1y m

Céa S W @&%ﬁo%g Hooks push \ow pU 4



001
2.0€
2.0

(0SS
5200 =0

By/L (01 X €72 =
J24DM JO uo1}DsiunodoA Jo D3y 4ua)D| J1192ds Y|

00009
gOI*E 72 ¥

"WJ0J UOI}DSUIPUOD
40 63G20°0 U2ym paspa|ad Abuaua ay4 24DjN2|DD

6%/

dx3 40T X €2 = uol4pstunodoA Jo 4paYy fua|p| I1}192dg B>y 402y 04 papaau Abuaua 2Y4 240jN3|D) D63/ L
2814 S! J240M Jo Ap190dDd 4p2Yy 214192ds 2y )

"2bubyd s1y4 Jo4

ID4S padinbau Abuaua jo 4 Y4 24D|N2|D) ‘WD4S (Do) d3ueyo aanjesadwo) = g

\ﬁm\ 04 sabupoyd Jajom fo 60T ‘$]10q 2|44 D UYM (-0 ﬁmw _.w Ayoeded jeay o1yroads = o

" NA -~ b) SSBU = W

Vi \\J = 000! (By/ 403y Jua4D| 314122ds = 7

) b S - Y (6¥) ssow =w

25 N (1) Abusua [pwiay = O %S — @Q

=

V: Ixw= ;

J2AD

159Q :wox2 ul uaA16 uoiyonby :WDX2 Ul uaAlb uoiyonby

s0g suoi{p|n3|p) AbJauj Suoio|nd|0) AbJdau]

)

A _ oz % 093 ) /Y XD W
qmw VA= O000S ~ Q9

. 2
= 2:6%/L 0v8 st Anopdod B2y d14192dg

n0891)

‘2:,0% 04
02 Wou4 24njpuadway ay4 buisiod paduasuody s
Abuau2 Jo LOOQOG 4! S%214q JO SSDW Y4 24D|N2|DD

Q000S =

2,64/ 08 Si Ab1opdod 4oRy 214102ds
aY4 J134214q b3g D 0} paudajsupdy si Abuaua Jo

£0006€ uaym 24DJn2|p)

2,08 04 02 WodJ} Jo4oMm jo




Bending and Stretching

Describe the difference between elastic and
inelastic objects
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Plot the following data on the graph paper

provided

m weight (N) ‘ extension (mm)
m 0.40 , 8.0
m 0.60 12.0
_ 0.80 16.0
w 1.00 " 20.0
w 1.20 , 24.0
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State the equation that links spring constant,
extension and *o,,.nm
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Current, Charge and Energy

(L=1x0C

Calculate the time taken for 33C of charge and a
current of 6A.

Resistance
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State the equation that links potential
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Calculate how much energy is transferred when
10C of charge flows through a potential
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difference of 5V
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Calculate the energy ﬁnnzm*n_%ma when an
appliance is used fof 5 3_:58 from the mains
(230V) s:r a curren of BA.
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a) Calculate the current flowing through
resistor X which has a resistance of 1012.
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A~ b Describe what happens to the total resistance
G < C when the resistors in the diagram above are
) ‘ placed in parallel
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State the equation that links resistance, current
and potential difference

Draw circuit symbols for the following components:
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